BDF
PROVISIONAL ANSWER KEY

Name of The Post Deputy Executive Engineer (Civil), Gandhinagar

Municipal Corporation Class-2

Advertisement No 38/2021-22
Preliminary Test Held On 30-01-2022
Que. No. 001-300

Publish Date 04-02-2022

Last Date to Send Suggestion (S) 11-02 -2022

Instructions / }dell (Physical Submission)
Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted in prescribed format of suggestion sheet
PHYSICALLY.

(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet)
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key (Master Question Paper), published herewith on the website.
Objections should be sent referring to the Question, Question No. & options of the Master
Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet. Objections shall not be considered, in case, if
responses given in the answer sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question shall be made on separate sheet. Objection for more than one
question in single sheet shall not be considered & treated as Cancelled.

(7) Candidate who is present in the exam entitled to submit the objection/(s).
(8) Candidate should attach copy of his/her OMR (Answer sheet) with objection/(s).

G edIR o{lAeil YUoilBilef Uldel sclofl d3el] AW, Bouell ditl-YUsl i) 539 12VlLd] tla
aqiel «&l
(1) GALdR didl-YUell [Add S 11Ad ditl-¥Ael UsAse] 22 sd il 2ER.

(2) GUEdR UHUHI ditl-YUell 2% 5L A1 U URite AAd [ddd ditil-yUst UnASell
oiYsile] % GUALL 5.

(3) GALdR Uldlal UlatHi HAd YUY RASIHI 9UIAE URSHIS Yoo ditl-YUst] 22 ol 5cll dHIH
digl-yUell AU U Uit 6AG Yl[dreld w12 S (HIReR UBUA)sll Usl SHIS Yool Wl d
Aeelui 0 s2dl.

(4) U1 USUA Ui A2 ust a [Asey [Ad el ditil-Y et dlel Qo lH] w1dQ) il

(5) GREAR % URlell (A5 UR dit] 2% 536 & el [Asey U % % lod YUdd B 2 %clod GHedR
Uldlefl GrRad&lui wUd eld) a5, GAed R YUAd dlod el GrdRdElell asallod (¢3t &2l dl
GHed IR 2% 539 ditl-YUst LdleiH AR oAl

(6) W5 WS HI2 WS % ditl-YUel Uas dlUG, A5 % didl-YUet UAsHI 158l aaR usllel 22q41d
539 &2l dl A 2etl ditll-¥yAell il Ad Q) «i&l.

(7) U3lewHl sloR ¥A GAEAR % citl - YUot 9y 53| A5 .
(8) GRAeal? clul-YUol A& Wclloll scuataglell aisct @sial scusdl 234
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001.

002.

003.

004.

005.

006.

007.

008.

siagL Hall (33 ﬂ@i@q (Kiren Rijiju) Hld-l UqH "\tél{:\i. gl v (Sports Arbitration Center):i
GeaueH.......... vid 54,

@ (B) d¢iounu

(C) H8IRZ (D) [2&dl

L0 USIRU A AA AAAR, MIRA A ... s Al Hiew cuuir MRllER adls me: ada ©.
(A) wau @

(©) adla (D) gl

DRDO i ‘Akash Prime’ d<l3 20wl 2us12 [Rudanu Gl=l sau-i (Upgrade) A58, (Version)
uZlael uAURL (Test Fired) 54, 1A Ul 54 qae A 20 [Rudadd aa el ?

(A) d ol udl 2u51 (Surface to air) -l HeHsau-dl [Buda 9.

(B) d DRDO &=L [dsuacuni 2udl € 241 d+f [Amiel Bharat Dynamics Limited gl20 $2aH 20 6.
@) au (B) vin

(D) (A) 2 (B) s uaL Al

ucls ai, 21 AR AL A% (A2 83591 [Bax (World Rabies Day) Goaumi 2ud 8. 1 au-il Yvy
[G2uR (Theme)........... 2!

(A) 52, 835 2, 1l (Dogs, Rabies and Vaccine)

(B) 835 - 4dRl, A& (Rabies - Dogs, Protection)

(C) 835l - MY w1 A& (Rabies - Fear and Protection)
.@,sscu - oy A8 Azl (Rabies - Facts not Fear)

A dUL GI tag tuoid 1AL U5 59 Ad/Ad2A diou Ad AL 97?
1. Alwd Ael — A%

2. %l — snum

3. 451 — sales

(A) 1,24 3 (B) WA 2 i1 3

(C) WA 1 44 3 @ 12112

“The Battle of Rezang La’ -UM Yds A .......... yeaui 120 AlRsiN ygdlRdig asi 52 97

(A) HIRd - WSl Y, 1949 (B) MIRd - W52l Y&, 1965

@ e - A0y, 1962 (D) *URd - WlBir ytu, 1971

A Houad, MIRAlA Uy AL HE 56, C-295 mw URaAg Bsu HAAU HIE .......... 2 A SAVUR
SAER sUl 8.

(A) 22 [aa @ i

(C) x4l (D) A4RA~3

UNESCO gl2L 1121 U5l su1 282 1 (A2 yas A%l (World Book Capital) d<l5 dild sauui
2y ?

.M&Ql, Q- (Accra, Ghana) (B) 62&%&, Q-
(C) $+EIR, MR (D) £, UAE
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009.

010.

011.

012.

013.

014.

015.

016.

017.

018.

019.

AURAT, .o %4 ¥ ‘The Fédération of Internationale de Hockey’ (English : International
Hockey Federation) -l 21 aug) -l AQUfA-U a¢s su (Under 21 Hockey World Cup)d, 4%
o, ¢ ?

A) Bedl (B) sau2s

(C) 31 @R

International Day of Sign Languages, 2021 i Huy (@202 (Theme) 1A WA sul 9?
(A) We sign for the voice .We sign for the human rights
(C) We sign for the world (D) We sign for the victims

@Rl DA A4 56 Su-lld AuALYR vild-Ul HIRdlL AdUAH CO, - capture and utilization Wl-2~l
sl auell scumi sudl 972

(A) 231,92, (ONGC) (B) 384 (GAIL)

@:2 244 (Tata Steel) (D) x1e18]l WaR (Adani Power)

A1 U4 sul 2o Shanghai Co-operation Organization¥i 941 514l Ag a3 oAl 9?
@< (B) UAE

(C) [Rouy (D) Bl

MR - SmstfQdl [guallu el suud ‘Samudra Shakti 2021° o Alof AW A ........... vid
Alony.

(A) Ws syl (B) HaussL syl

@< sy (D) bix$21 ygy -l

gl A Ul sy At sidr-l vidl 8 A € ?

(A) s1¢l opou- (B) 8w

(C) s12d® @)iva

AAAUA ... 290 vuddl Finance Workshop #ufl 2uda €.

@02 (B) wedl

(C) AM-u (D) W3R

uLYR - SIUAL FUIAA (Stone - Cut Reservoir) EX I vl woll 2uda 69,

(A) Yrsl23l (B) sidleuourt

@-iadx (D) W

[Rigullall 2izgld 21 dl2 s 4ld a2 You astad sul edl ?

@Ry v 2izgld 28 ¢l i dAlRs qrgla wla dl

(B) Ry vladl 265l 21l i il el sl dles Asld 21 el@gin (Sacrifice) | Hirdl 8.
(C) [Rag vllall sl i 4 Heea 2iudl 8dl sl dles AglAn 4 A s vug sd.

(D) GURisd WA 2isu Al

Rl Slagia-u AeHHE (A2t dirRigR adls DA WA su qld opes o 1A s 8 ?

(A) saallddur (Avalokiteshvara) .ﬁ';lll (Maitreya)

© ALSUR (Lokeshvara) D) ysuild (Padmapani)
A UL 53 1 Ao 51 sHIGAR O ?

@:is2d - g - Aau (B) AHLA - AsAWA - Ad~y
(C) AN - Ay - AsAAR (D) 2AsAAA - A=y - ALY

BDI - MASTER | 2 [ P.T.O.
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020. QA U4 5y deu i wHdly 4 (Classical dance) el ?
(A) 55 (B) sasdl
(C) adlu 1 (Sattriya dance) .°Rf’{l
021. R MIS YR .......... U [Qlendm 8.
@101, 2seim-udal, e (B) 2125, 2aelH-ollof, AYsILtd
(C) 21208, GEIHL, Yo (D) 212U, AYSIL, EE A
022.  acdefl AL A%Y 4H (State Religion) .......... Sl
(A) S @i
(C) dwaq (D) BuRisd WA 2isuny Al
023. e AL QUASI g SaAsi2 [Bea vid YA 42 [Rmie 2y ¢d.
@ (B) W&
(C) YRHIR (D) BuRisd WA 2isuny Al
024. eadluidlgu.......... UL UASI ERAU GULHAUNT UL Sl
(A) 4 A% Al (B) Rt
@3 (D) “idouR - udal
025. DA A4 53 1 ar1dl APBisil agaual 4as 6 ?
(A) tifl-un-ll 953l @-z1:l Branst
(C) “RQL &UiR (Kharan Bapor) (D) 2082 44 82
026. R Uy (e (gl 1A W4 sy [Qany/sa Q- acu 8 ?
1. o0y HlEg [Anin s wode gL sRami 20y gd.
2. 20y (22 4 Al iR Al el sami 2ue ed.
3. oy H[2R 2 cug gl 518 pudy 9.
(A) WA 1 244 2 @2 n43
(C) WA 1 4 3 (D) 1,2 ¥4 3
027.  2uadtAwda (g QA U4 sy [Qa-ysa [l a8 ?
1. A1l ALl g3 YR 2 21a31 was gudvR Al sdl.
2. QR0 APRUHL AR S AURBIE AHRAY UL
3. Aagorrl ‘oiy Rianell’yi vealday wel vid an1e [Asi2 Hl2l Gedu s34 .
@123 (B) WA 2 ¥4 3
(C) WA 1 ¢4 3 (D) WAL 1 ¢4 2
028. Al ALl 2uRre Wil YAHIA st Azu-l yeustd Al ¢dl ?
(A) M wa A% (B) [Aorudig A-u A%
@22 clirg ulagiz %y (D) £l ol Ar252 AR
BDI - MASTER | 3 [ P.T.O.


Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight


029.  -llA- WS su1 20 24 UadHL (modern) AL [RRud € ?
lLdlag 2.3y 3.ouuadl 4, ®dldAd 5. 2AUR (Ropar)

(A) WA 1, 2, 3 ¢4 4 B)1,2,3,44145
(C)HA 1,24 @ 1,203
030.  elBw orRani 2ue usHa-dl Yless suaai-l ug A1 U s g sa was au e ?
(A) [Asrulec usal (B) yasll usal
(C) ya3ell ollod @ sz ollon
031. DA WA s AMAUA curdul H22 Sl su-ll-u i 2158512 (monopoly) - ~loie sul ?
(A) Regulating Act, 1773 (B) Pitt’s India Act, 1784
@ charter Act, 1813 (D) Charter Act, 1853

032.  NAUUL sy / s 2 1857 -u [dwa-dl [sndi-u siel s ?
1. 519302 2 A AN [Quaan sondl sami uees 530 edl.
2. [l cuRd-L 245 &atia ([Quaqui) euot - dlul,
3. GuRd [alas gxiui [duaa e isan-l A edl.
(A) Ha 1 214 2 @2 n43
(C) WA 3 (D) 1,2 ¥4 3
033.  HSLHL A glRL vt vigdl adl ARUAS S UL Y $1% 8, ?
@z 51 usau 9ai wat adladlda g il wdya-l Gaell yaddl e 2udl - ¢dl.
(B) adladldat 2 derndaui sl Heicl angandl eud s31 gdl.
(O) (A) dl (B) bid
(D) (A) 1 (B) 215Ul ]
034.  Udld Hen His Haldu 121 19094 54 AdHIAUA A3 SAHL 2 ¢ ?

(A) 4 Sl (Free India) (B) -id &1 (Nav Bharat)
© Seflurg-2 (Independent) .C-[ISQ (Leader)
035. 9Ll ABAWA B35 vl (Zafar Khan) 24 AR d dudl adAadl sa12 08 s3l edl ?
(A) AABEL Wlagru Yoy tue (B) HSHE [Bil duavi-i Yey bule
@2l u2 AR 2usmw oue (D) 532 AU WALSL ERULA
036. 220l 3L LA DAL WAS 519 Sl ?
(A) HEHE sHlevin-iln (B) HSHE Gi81guUI-Aln
(C) HEHE YA @) s4e nsivavinioo-An
037. Ao Sl dll 22 2 Salrll AVIHHL SAAAL 9 dH S,

(A) A9l International Monetary Fund gl2L Aletii 20dd] Al W sag siu.
@5l udl din ur cnoll ysasll s w2 ual Gel-u da 3l Sl

(C) ARIERL IR Al Al AU ASIL 2L G512 SAUH Ul Sl

(D) -l eusl ) a1 ) diq GuR (A ols vyt GUL Qe € Adl i,

BDI - MASTER | 4 [ P.T.O.
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038.

039.

040.

041.

042.

043.

044.

045.

“Hot Money” 2A6¢ WAL A .......... A AR WS GUURIHE Ara 8

(A) A48 + RBI 18-l 2-uHd

(B) Net GDR 3lel

(C) Net [agall ucua s

.[&é%ﬂ VREUHA ASLLL (Foreign Portfolio Investment)

WTO uttld 2AUH4AR Most Favoured Nation (MFN) $44 EX R - [Asaid 2utnlRd 6.
@21 @23 516 derua dl

(B) A2l AR Mg ™I

(C) st ¢4 [a2ellail a4 [Asies (Differential) AR

(D) Al il U s AHIA ¥ 5ld

Brent Y515 A .......... A1 AsouAAL S,

(A) Copper future prices (B) Gold future prices

.Crude oil prices (D) Shipping rate index

auRd N U s e wad) daala dlousil sl 35 9 ?

(A) USA @ ussr

(C) 2izgdlu (D) %4+l

AL W ugil Anauoul (iRl ield=a-l would- 22 tuRdld AhdaAn .......... a<ls awll
ASIA.

1. [Qsiuslla weld (Developing Economy)

2. (30-12@ (Rallgd) 2= (Emerging Economy)
3. [ge12d »1dd=A (Dual Economy)

4. [5{'1@[‘3[ 22 (Non - Agricultural Economy)

(A) WAL 1 241 2 @1, 2013
(C) WA 1, 2,3 ¢4 4 (D) WA 3 1A 4
A0 WA 53y (At ue ) ?

(A) MuRani sRA 51024 () Bg 2 1A 2ABa Yl 04 ©.

(B) MRdHi [l Hell (Slack) g, 2 4 dl vis2ieR Y-l slu .

@ ani swarl g R Al wiowre YA slu 8.

(D) GURisd WA 2isu Al

AW 56 AlAAA @y Gedlor & e Mogargail 2uR(Ad Avianl susian g sa-ll Mam 5317

@1 A uMla (B) R AR

() -uus ulld (D) BuRisd WA 2isuny Al
RURAL AL oL AL AL A WA s 2 Awgula D azsi € ?
1.61532

2. Y5d oo Wile dARL (Open Market Operations)

3. N8R gal

(A) 1,2 4 3 (B) WiaL 1 4 3
@112 (D) WA 2 21 3

BDI - MASTER | 5 [ P.T.O.
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046.

047.

048.

049.

050.

051.

A1 Ul s uaal (siicudl) (Measures) 2 A dAHE ALRL Y614l Al 529 ?

1. MY 615 (Central Bank) gi1 %+l WAl a513l Al (Securities)dl wilel
2. %idl IRL AR BisUi YL 534 AARL (Currency)

3. ASIR I WY 615 Hidl sAAA BRAALEL (Borrowing)

4. HeR9 615 gIRL Bl U251 R0 (Securities) dawat

(A) "= 1 (B) WA 2 i1 4

(C) WA 2,32 4 @143

A2 Y4 s [Qannl ucn €97

1. NSSO 712, 514 YasL (Iabour force) Hi Adl Alsi-L AHIA A1 & 5 il 511 AL 8 8.
2. NSSO AR, 513 Y48l (work force) Hal dlsl Bedwt 53 €9 FHA AU WAL B,

3. NSSO AR, 610Ul 2Aal &9 F2il AUl 2wl asdl .

(A) WA 2 4 3 (B) WL 1 211 2

(C) WA 121 3 @123

2lru WA 56 daaflu alo-uni ol saidld’ Yot 2 2uey 8d ?

(A) wiad @2

(C) Aal (D) usdl

AL WA 56 oustd 24 HIRAHL Tenancy Reforms (A3 s01on A6l yaRRwy-l [Qgud 4l ?

@zl wuiemid Yl (B) Lotz auaonou-l yau
(C) Aol austd [Ratzey (D) Gu-ut U4l 25 ua -l
yedl 24514 (Perihelion) AdRA........... AR gl 69,

(A) Y [2al 5 2R Y-l Us1AA dA3U 5591 AU H5AT U U3 8.

(B) 2Adl a2t 3 % dlu arui o €9,

(C) dl [2ax 5 1R [Bax 24 Aa-l donsd a1 Siu 6.

@il B 3 2uR yedla -l Aell s €l B.

oA A%UA AU[AS (Physiographic) @Rl suetd 1A Ul sy [Qaiq aeu 697
1. ®uis (Mainland) 529 A7 2 3 5249 &A1 6] Yo [Acull €.

2. W i gla ornanl gdlu (Tertiary) w35l dney[# (Basement) 2 gvwidl slauedls wis
EDETEN ] (Trap) 6.

3. Allol[as d orAdL vis ¥ AsH 8.
@122 (B) WA 1 241 3

(C) WAL 2 211 3 (D) 1,2 ¥4 3

BDI - MASTER | 6 [ P.T.O.
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052.  dRua-dl azdl aial, 20111 Aecini Ao A (A2 A1 WA 53 [ / sui [Qa- we 872
1. azel o0l ucls Al (54 21 308 lsaxi-l ¢dl.
2. A< 11 Wl %Al 2Rl Uls 1000 YU A 5H 919 24 979 il gl
3. YSER ALERAL €2 69.14 251 Sdl.

(A) WAL 1 214 2 (B) "= 2
(C) WA 2 21 3 @143
053.  NAUUA 5y 2 cuRad Alefl Hig cumla o 697
(A) Sino-Tibetan .Indo-Aryan
(C) Austria (D) Dravidian
054. 2001 ) 2011 gRu-L DA+ AL WA 01 AU ARl 25 Q[FER Al al?
(A) H8IRIZ (B) uWlEm sioun
@:2 (D) alderug

055.  Hasulldl vidl (gl &l U4l £ [Qanqysan (A ey dl?

(A) aRiel Hasll (Rainary Groundnut)dl vidl #12 Allol(as 3Rudl 3 suy 2 swA Bl o
Sl e,

(B) HasUll-l s vildau £ 2 [Suall denella Siu 6.
(C) ARzt 2a-il wasull-l alest (Miel Gautes uga) .
@050 Rrnou-l ssgui Gousarmi »ud 8.
056. -l U4l 59 €l Al Qisl ¥NAAS (Catchment area) (A1 Hd ©97?

@ (B) “MEL
(C) anll (D) 5193
057. DA UL 58 Al ulou dd A3 «ell?
el Beaaar
(A) HEL — Asd yddwo

(B) ARUAL  — uacd]
(C) awdl — AY3L
@ouicedl - ydme
058. DA UA 58 Al ulou dd Al 4dl?

AUHIH 2
1. lAlan — il 25321 (Nallamala Hills)
2.HSIRUR  — Al 253024 (Satmala Hills)
3. YR —  Hg1ga 25312 (Mahadeo Hills)
(A) WA 1 (B) HiAA 2
@2 n43 (D) WA 1 241 3

BDI - MASTER | 7 [ P.T.O.
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059.

060.

061.

062.

063.

064.

065.

066.

067.

el AU WS s Precnstini Gua sl2oidla araion ui-vz ol sal vl 69?

@121, a8 24 sin (B) AUGIR 5161, GIrUASI6EL 2 HS AU

(C) RAASI2, AHARAR A MUATRAR (D) 21Ra¢dl, e1sie A asigl

el A WAL 56 2neiigafla 21 dloulas uR R swa-i Gaue 12 xg 50 97
1. 21° A, 9l 30° A, -l a2 Al

2. 50-75 AH @l aue

3. 2ue sl (Deep Black) gl

(A) WAt 1 (B) H1A 2 ¢4 3

(C) WA 1 41 3 @:. 223

Url.......... H QUL 97

.Uniform Resource Locators (B) Uniform Resource Locations
(C) Universal Resource Locations (D) Uniform Reserve Locations

D2 UL 54 A GURAT], AdUAH UANGL WS- (Launch Vehicle) €97
.Satellite Launch Vehicle-3 (SLV)

(B) Augmented Satellite Launch Vehicle (ASLV)

(C) Geosynchronous Satellite Launch Vehicle (GSLV)

(D) Polar Satellite Launch Vehicle (PSLV)

IPV6 address 121 GUALHL AL 2adL bitsl vl .......... .

(A) 32 bit (B) 64 bit

@ 128 bit (D) 256 bit

sizizde uell-i gH 1A U4 su1 dcanid) ot sia e ?

(A) Q@iﬁ{lﬁw (Alluminium) .QQ'{MH (Selenium)

(C) ¢ilRuy (Barium) (D) 5flum (Caesium)

gatl v1aear-l 1ull wRRulA qiadl SHranl A Ul sul [R5y ary gw ad as 9?2
A) Rflun B) [Rai-

(C) 2t @::i

AA WS 56 AR AlRS v 20012 2l Wl sustd (Cornerstone) 2Ax uHIR, [R:a1-l 501
udlt W2 2uagus efRule i »ud 97

(A) CTBT @ et

(C) FMCT (D) PTBT
A WA 53 Bells Saar du- Ald 8 w1y Ad 2Asig el ?

1. 42 Udld ¥dls a1 — anuld da

2. ol Yél ¥dls Sual — A (Algae)

3. Al Qélj gdls SuaL — (Jatropha)

(A) HAt 1 @2 2143
(C) WAt 1 211 2 (D) 1,2 ¥4 3

BDI - MASTER | 8 [ P.T.O.
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068.

069.

070.

071.

072.

073.

074.

075.

.......... 3 Green House U 1201 o4 97

(A) AAIARBAAL AUHIAHE 82131 (B) UALARBLAL AlUHLAHL AIRL
@ .2 wdrarag DA A au ag (D) GuRisd U4 2isur A
HOUHA 2R A ... [alﬁfsd (release) $3 9.

(A) B Rays (B) R Rays

(C) X Rays 21 B Rays .ﬁﬂdﬂf’{ﬂq [als@
{d25d (Infrared) 2 €24 (Visible) Gus 9ol .......... el 530 A3 69,

@il S w1 Gl sl s2a-dl Qe

(B) &l 7 o5 calevil a2 dastad 158l saul L.

(C) Cloudseeding (et 1) {12 U1y cagviid vivicusdl dld.
(D) ‘A’ 24 ““ogell”’ Il a3 dsld 8l sal .

DA A4 54 A w2152 51 vid GuRA, s1uHl A2l S 97

(A) didu (B) 8443

(C) o=l @ -0

Raudd.......... NGEIEE

(A) [Rsa 214 o (B) %d ¢ Aiel

@ Rsa 2 sifhan (D) dity 27 sifHun

1541 uRU A .......... ol A3 i weuslu an e 532 2 2y wRuSlA cuoidi-l Ariiugl
(devolution) HI2 GLAMBU $3& 97

@ 3 ik, 2020 (B) uddl x\Ma, 2021

(C) usdl »ilha, 2022 (D) usdl »ilha, 2023

-

2l w221 Ysteria du-l Geaiugu- au-L ssHui sl
1. AU A Yool A%,

2. HlnRan Wlen 214 *IRAY

3. NOTA (None of the above) ?#318\1

4. A UR, G A HIRA U-

@12 4013 (B) 1, 2, 3 ¥ 4

(©)1,4,2 %43 (D)2, 1,4 %4 3

A WAL 56 2AAUS2L AUEA A cAgHA 27 AL AH[Afl Yl asu ® ?
1. Aueui Aopdlg Walia

2. AR5 - iugH (ulf‘?-l - acquisition) 241 AHWA (termination).

3. Aue 2 A%l -l el

@1 (B) A 1 241 2

(C) WAL 2 4 3 (D) 1,2 ¥4 3

BDI - MASTER | 9 [ P.T.O.


Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight


076.

077.

078.

079.

080.

081.

082.

2ell UL UYL dAlS UAE Al HIG H{HIRRIML 5O Austa-l Gedv SR >0dQ 8 ?
(A) curdla adladl Aaiui gial AdA

(B) duA adl Ae1dd-l afld a5l ML 2O 5 Al ™A Sial AS

(C) 35 il au yul 53¢ ¢id) Al

@)Gurisa WA 2isun 1l

MHRA AR AN, 1935 Government of India Act, 1935 i [Alre qai sw e ?
1. wilds @nudl

2. 54l [gyell suauq ueald

3. A0l gyl uan uealadl uoel

4. tusld AMA &L, WldiL (Retention)

(A) WA 1,2 24 3 (B) WAL 1, 3 4 4

(C) WA 2,32 4 @123 x4

-\

o1 (7341 YriRL) 2AMAUH 1992, 5 % eaHi daadl 19 A0 Wul8d sad Ria 4d 8 d-
(Agl DA AS sy (At aey el ?

@ vualor afalavi 2a-u

(B) A% 42ell U drus yauasdl 2f2ellai 54l

(C) A% iy~ -

(D) UAAAHL dHIH G651 Ut A28l gIRL uie 2dd alsauidl ¢rdl
N AA 54 A Ul 14U YOEUESR Sst 2ud €9 ?

@120 212512 219 25 A ay AUl aA [Qae

(B) AAEA SISURL A Al A quuA™LAl 2ell2il 24500 [Qae
(C) MR URSIR 2 5% WA ugaL aA-u [Aaug

(D) & vl ue azdi-u [Qae

RURAAL A2U[A 2 HAlH N Q2R Madu Aol ........... AL o1 grau alad 6.
(A) 4241 virRelly Y A@MRan @ 14+ vl g wERuu
(C) 4841 eitellu yau 2AEMAUH (D) 5441 eitRella YRl 2EMAUH

WA 2007 Hi AR National Commission For Protection of Child Rights (NCPCR) CX IR
s suns a5 valRia 52 6.

(A) 0 2l 10 -l auoga-l (B) 1 ¢l 12 au-l auega-l
(C) 1 4L 15 anil quagau-l @o =0 18 il auogadl

GURAL GLHIRRLAL $UL HULRLHE AL BV $AUHT BUUL S § %Y 3] HURAL AHA NS AH UL W
A RLURSAR Al srind) 2uuarl v s’ ?

(A) @ 11T (B) M1 V
@cvo v (D) MWL VI
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083.

084.

08S5.

086.

087.

088.

089.

090.

2l WSl 5y you uloy Ad A el ?
(A) bigl ucugll s (Habeas Corpus) : A$148:UR 1l 8us3A ussi? 6,
(B) WAvY (Prohibition) : Al AE1AdIA du-l ~uugA)l oisi-l sidadl s AS 9.

.‘R‘-ué%l (Mandamus) : -1l AELAALA UssIEl asidl (Cannot be addressed to inferrior
Courts)

(D) (8512 Y291 (Quo-warranto): AR5 SIEIA AR 51ULUR N AR SAUMT 2 d-ll AH U SRUHE
219 9.

A=A UA 59 Alald 21 Apuacuddl (@2 (Exclusive) a@ld © ?

1. w829 (Subordinate) [l Auia (Legislation) Aol afla.

2. A1 iyl (Government Assurance) 46itl alld

3. AMueq (é"{él) u ‘j\_}séll watl il afla (Committee on papers laid on table)
4. 08 Gusul Aoidl AMnla (Committee on Public Undertakings)

(A) 1,2, 3 24 4 (B) WA 2, 3 i 4
(C) WAL, 324 @ 1,2 013
AYsa A Ran ... U AY Gauni »ud ©.

@240 iisior (B) 3130 25262
(C) 18] ™R (D) 10l RAwR

AHl5W 6x?  23/3x 60 0 ol G3a sue?

(A) 53, 43 # @
(©) —ﬁ, —g (D) BuRisd W4 2isuny Al

=\ oY =\ =\

6] ALUALAL AU 132 1A 24 AL IRITIR 4 1 7 SlA dll o 61 AvAlAi-l A L1 Sedl sal?
@ (B) 21
(©) 35 (D) 42

25 [Aslal »ia: [(esal (In Radius) 6 A4 9. 2 Bisia-ll uR (Rl 32 Al Sl i d Bisiag sasn seq
99l?

(A) 192 &l Al (B) 64 «ul. Al

@)oo 2. 3 (D) GURLsd WA 2Asu ]

25 15 85221 HelHi 5 AL 24l aruie ud ©. dl uda welld adsn 524 29 ?
(A) 250 an Hle: @750 - Qe

(C) 7500 a- Hle: (D) Buisd U4 2isunt 4l

-

Al 20U E Arupii-l HeuRY sedl 49?
1, 23, 4, 29, 34, 10, 45, 78, 97

@20 (B) 32.5
(C) 39.5 (D) Buisd U4 2isunt 1l
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091.

092.

093.

094.

095.

096.

097.

098.

099.

100.

. Y 3 Y oY 4 by o . Y
25 [Qenefl 215 Avard " ol opareuq vied (el 38 Rl 8. el 2 AL AL 251Ul S2ell aal?

(A) 49% & 77.77%

(C) 81% (D) BuRisd W4l 2isun Al

w5 21 50 Hle/A 53+l 33U €l 89, dl dn 75 (5,30 2idR studlL Sedl AHu a?
(A) 20 M2 (B) 24 [AlAe

(©) 32 A2 @ Guzisq W4 visuw

3L 25,000, 4% Avi 3 aul W2 Asa(By g ysaEll 24 cuo wnel?

@ . 3.121.60 (B) 3L 3,211.60

(C) 3L. 3,221.60 (D) Buisd U4 2isunt 1l

100 ol 31 350 Ul wLlecumi 2ud €9, 2 o1aL 120 48 3(WA 39311l HId AT 20d 8. dl 5L
5 qsanll estudl s2dl aal?

1 2
(A) 145% B) 142%

(©) 18% (D) Gu-uL WSl 2i5 waL Al

HA 27 YU s UAAUHL 3 2 2 L Rl MEId] 52 6. A §A 151U 5% F2dl 54 el %l
SIU 24 JHAAL ML 31. 2,565 S1A dl §A 15l 524l 2ul 8A?

@ 4,500 (B) 3L. 4,800

(C) 3L. 5,400 (D) BuRisd U 2isuny Al

D2l el 2uoudl ue sy sal?

7, 26, 63, 124, 215, 342, 2

(A) 411 (B) 431

(C) 481 @-u
25 W Godl YA drs 400 Hl2: Fed e e d uldidl siefl dzs aull 300 {12 Feg 04 8. di d
yo 2l 56 [BaHi 21 Sedl g2 8al?

(A) Bria-yd, 350 Hle (B) elaai-ud, 450 22
@G2-ud, 500 0122 (D) GURLsd WA 2su ]

30 Al5axil 5 sasHi 60 gzl udl a5 6. A d U 5 alsd2il s1u il ¢ dl 10 scusHi s2en gal adl
as2?

(A) 90 @ 100
(C) 105 (D) BuRisd W4 2isun Al

il 2(x—3)—(5—3x)=3(x+1)—4(2+x) Sludl (2 _q A Bud 324l 29?

(A) 2 (B) -1
@o (D) GURLsa UH A sy Al
A WA 5 2Ava ywlaol afl?

(A) 1022121 @ 1021221

(C) 1212201 (D) 1002001
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101.

102.

103.

104.

10S.

106.

107.

108.

109.

Which of the following heavy metal is not mentioned in the National Ambient Air Quality
Standards 2009?

(A) Nickel (B) Arsenic

(C) Lead . Cadmium

Indophenol Blue method is used for measuring which of the following air pollutant?
(A) Nitrogen dioxide (B) Suphur dioxide

.Ammonia (D) Benzene

For which of the following air pollutant, the ratio of the 24-hours standard concentration to
annual standard concentration is 4

(A) Particulate Matter 10 (B) Particulate Matter 2.5
(C) Suphur dioxide .Ammonia

For estimating the annual arithmetic mean of air pollution concentration at a particular location,
the minimum number of observations to be taken are

(A) 52 @ 104
(©) 156 (D) 208

24 hourly air pollutant concentration shall comply with the respective air quality standard for
of the time in a year

(A)90% (B) 95%

@3 (D) 100%

An emission inventory is

(A) a list of pollutants from all sources in a given area entering the air

(B) a list of pollutants from all sources in a given area entering the air in a given time period

.a list of the amount of pollutants from all sources in a given area entering the air in a given
time period

(D) a list of the air pollutant concentration present in a given area in a given time period
The design air flow rate in a High Volume Sampler for measuring PM,, is around

(A) 10 lit / min (B) 100 lit / min

@ 1000 1it / min (D) 10000 lit / min

Potassium Tetrachloromercurate (TCM) is used as an absorbing media in the measurement of
in the ambient air

.Sulphur dioxide (B) Nitrogen dioxide
(C) Benzene (D) Nickel

Which of the following statement are true for the National Clear Air Program launched by
Ministry of Environment Forest and Climate Change, Government of India

(i) Year 2019 is kept as the base year

(ii) National level target of 20-30% reduction of PM, 5 and PM;,
(A) Only (i) (B) Only (ii)
.Both (i) and (ii) (D) Neither (i) nor (ii)
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110.

Of the eight missions under the National Action Plan for Climate Change (NAPCC) of
Government of India (which includes the National Solar Mission, the National Mission for
Enhanced Energy Efficiency, National Mission On Sustainable Habitat, National Water Mission,
National Mission for sustaining the Himalayan Ecosystem, National Mission for a Green India,
National Mission for Sustainable Agriculture, National Mission on Strategic Knowledge for

Climate Change) how many have a direct linkage with air pollution mitigation?

(A)3 (B) 4

@ (D) 6

111. Turbidity is measured on
.standard silica scale (B) standard cobalt scale
(C) standard platinum scale (D) platinum-cobalt scale
112. Chlorine demand of the water is equal to
(A) Total bacterial count of the water
(B) the applied chlorine
(C) the residual chlorine
.the difference of the applied chlorine and residual chlorine
113. In a Rapid Sand Filter, the quantity of water used for backwashing is around of the
total water filtered
(A) 0.1-1% @: - 4%
©)8-10% D) 10-12%
114. In Soda-lime process of water softening,
(A) only carbonate hardness is removed
(B) only non-carbonate hardness is removed
.both carbonate and non-carbonate hardness is removed
(D) neither carbonate nor non-carbonate hardness is removed
115. Which of the statements are true for Recording type Rain guage
(i) it produces a record of cumulative rain v/s time which is know an mass curve of rain fall
(ii) They are also known as integrating rain gauges
(A) Only (i) (B) Only (ii)
.Both (i) and (ii) (D) Neither (i) nor (iii)
116. Index of wetness of a place is the ratio of
.actual rainfall in a given year in that place to the normal rainfall of that place
(B) maximum rainfall in that place in a given year to the normal rainfall of that place
(C) minimum rainfall in that place in a given year to the normal rainfall of that place
(D) amount of water vapor in the air to the maximum amount of water vapor the air can hold at
the same temperature.
117. Ordinary gravity wells of 2 to 5 m diameter which are constructed to tap water from the top
most water bearing strata are called
.non—artesian wells (B) artesian wells
(C) flowing wells (D) perched wells
BDF - MASTER | 14 [ Contd.
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118.

119.

120.

121.

122.

123.

124.

125.

126.

127.

The geological formation which does not yield water freely to wells due to lesser permeability
although seepage is possible through it is called

(A) Aquifuge .Aquitard

(C) Aquiclude (D) Aquifer

In ground water studies, recuperating test is preferred to pumping test when

.it becomes difficult to adjust the rate of pumping so as to keep the well water level constant
(B) the time taken by the water to regain its normal level in the well is very high

(C) the time taken by the water to regain its normal level in the well is very low

(D) the aquifer contains mainly alluvial soils

Well yield per unit of drawdown is called the

.speciﬁc capacity of a well (B) discharge of a well

(C) storage coefficient of an artesian aquifer (D) discharge coefficient of an artesian aquifer

When a liquid flowing in a pipe is abruptly stopped by closing a valve, the velocity of the water
column behind is retarded and its momentum gets dissipated due to conversion of

(A) elastic energy into kinetic energy (B) kinetic energy into potential energy
.kinetic energy into elastic energy (D) elastic energy into potential energy
Centrifugal pump is a type of

.roto-dynamic pump (B) displacement pump

(O) reciprocating pump (D) rotary type pump

Hydraulic ram is a kind of pumping arrangement which uses the principle of
.water hammer pressure (B) positive displacement

(C) negative displacement (D) sudden suction

The threshold odour number for water in public supplies should never exceed
(A) 2 @:

)4 D)5

Free ammonia in water indicates

.the very first stage of decomposition of organic matter

(B) the quantity of nitrogen present in water before the decomposition of organic matter has
started

(C) the presence of partly decomposed organic matter
(D) the presence of fully oxidized matter in water

If 2.7 Million liters of water is passing per day through a sedimentation tank which is 15 m long,
10 m wide and 3 m deep, then what is the detention time of the sedimentation tank?

(A) 0.1667 hour (B) 1 hour
.4 hours (D) 6 hours

2 Million liters of water is passing through a sedimentation tank. If 50 ppm is the concentration
of the suspended solids present in the raw water and 50% is the removal efficiency, then what
quantity of dry solids will be deposited per day in the tank. (Given than the specific gravity of
the solids is 2)

(A) 10 kg (B) 50 kg
@100 k¢ (D) 200 kg
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128.

129.

130.

131.

132.

133.

134.

13S.

Which of the following statements are true for alum and iron salts being used as coagulants

i. Iron salts are used as coagulants more frequently for treating sewage while alum is used more
frequently for treating raw water

ii. Alum salts produce heavy floc and can therefore remove much more suspended matter than

iron salts
@ony i) (B) Only (ii)
(C) Both (i) and (ii) (D) Neither (i) nor (ii)
Jar test is performed to determine
(A) the best coagulant (B) the minimum coagulant dosage
.the optimum coagulant dosage (D) the maximum coagulant dosage

Which of the following are the methods of disinfecting the water?

(i) Treatment with ozone

(ii) Treatment with excess lime

(iii) Treatment with iodine and bromine

(A) Only (i) (B) (i) and (ii)

(O) (ii) and (iii) .(i), (ii) and (iii)

In a water distribution network, the main function of a distribution reservoir is

.to meet the fluctuating water demand with a constant rate of supply of water from the
treatment plant

(B) to meet the constant water demand with a fluctuating water supply of water from the
treatment plant

(C) to meet the fluctuating water demand with a fluctuating rate of supply of water from the
treatment plant

(D) to meet the constant water demand with a constant rate of supply of water from the treatment
plant

In a circular sewer of diameter D, if the depth of flow is D/4, then the wetted perimeter will be

(A) D/6 (B) tD/4

.nD/3 (D) None of the above
The best sewer material to resist hydrogen sulphide corrosion is
(A) Reinforced Cement Concrete (B) Brick Masonry
.Glazed stone-wave (D) asbestos cement

When a sheet of paper moistened with lead acetate hold for few minutes in a manhole turns
black then sewer certainly contains

@ (B) SO,

(C) CH,4 (D) NO,

Imhoff cone is used to measure in sewage

(A) total solids (B) total organic solids
(C) total suspended solids .settleable solids
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136.

137.

138.

139.

140.

141.

142.

143.

Leachate is a liquid that comes out of

(A) septic tanks .sanitary landfill
(C) compost plants (D) aerated lagoons
A Nahani trap is provided

.at the head of each house drain

(B) at the junction of house sewer and a municipal sewer

(C) at the junction of two house drains

(D) at the outfall end of each house drain

2.5 ml of raw sewage has been diluted to 250 ml; Dissolved Oxygen concentration of the diluted
sample at the beginning of BOD test was 8 mg/l while it was 3 mg/l after 5-days of incubation at
20°C; the BOD of the raw sewage is

(A) 20 mg/1 (B) 100 mg/1

(C) 300 mg/1 @500 mgn

The maximum Biological Oxygen Demand of a glucose solution of 100 mg/l will be
(A) 192 mg/l @& 107 mgn

(C) 100 mg/1 (D) 32 mg/1

Which of the following statements are true

(i) Detritus tanks have higher flow velocities than the Grit chambers
(ii) Detritus tanks have higher detention time than the Grit chambers
(A) Only (i) @ oy i)

(C) Both (i) and (ii) (D) Neither (i) nor (ii)
The sharpness of a curve is designated by its

(i) radius

(ii) degree of curvature

(A) Only (i) (B) Only (ii)

.Both (i) and (ii) (D) Neither (i) nor (ii)
Which of the following curve setting methods requires angular measurements
(i) Two theodolite method

(ii) Offsets from the long chord

(iii) successive bisection of arcs

@ony i) (B) (i) and (i)

(C) (ii) and (iii) (D) (i), (ii) and (iii)
Length of the transition curve can be calculated by which of the following methods
(i) Arbitrary gradient method

(i) rate of change of radial acceleration

(iii) rate of change of centrifugal force

(A) Only (i) @ () 2nd Gi)

(C) (ii) and (iii) (D) (i), (ii) and (iii)
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144. Theodolite is an instrument which can be used for measuring
(i) horizontal angle
(i) vertical angle
(iii) horizontal distance
(A) Only (i) (B) (i) and (ii)
(C) (ii) and (iii) .(i), (ii) and (iii)
145. In a levelling exercise, which of the following sight(s) is/are taken on a change point
(i) Fore sight
(ii) Back sight

(iii) Intermediate sight

(A) Only (i) @ () 2nd Gi)
(O) (ii) and (iii) (D) (i), (ii) and (iii)
146. is an imaginary line on the surface of the ground having constant inclination to the
horizontal
.contour gradient (B) contour
(C) horizontal equivalent (D) vertical equivalent

147. Direct method of contouring is
(i) the most accurate method
(ii) suitable for hilly areas

(iii) adopted for large surveys only

@ony i) (B) (i) and (ii)
(O) (ii) and (iii) (D) (i), (ii) and (iii)

148. In a plane table survey which of the following instrument is used for centering
.plumbing fork (B) magnetic compass
(C) spirit level (D) alidade

149. The line joining the points of declination is called an Agonic line
.zero (B) minimum
(C) maximum (D) same

150. Bessel’s method is associated with
.S-point problem in Plane Table Surveying
(B) 2-point problem in Plane Table Surveying
(C) balancing the latitudes and departures
(D) estimating the closing error for a closed traverse
151. The error due to bad ranging is
.cumulative, positive (B) cumulative, negative

(C) cumulative, positive or negative (D) compensating
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152.

153.

154.

15S.

156.

157.

158.

159.

If £ is the focal length of the object lens, ‘i’ is the stadia hair interval and ‘d’ is the distance
between the optical centre of the object lens and the axis of the theodolite, then the multiplying
constant

(A) f/d @i

O f+d M) E+d)/i

The vertices of an astronomical triangle would include which of the following
(i) Zenith

(i) Pole

(iii) Heavenly body

(iv) Azimuth

(A) (i) and (ii) .(i), (ii) and (iii)

(O) (i), (iii) and (iv) (D) (i), (ii), (iii) and (iv)

Which of the following statement(s) is/are true for an anallatic lens

(i) it is a lens placed between the object glass and the eye-piece at a fixed distance from the
formed

(ii) After placing an anallatic lens, the value of the additive constant is reduced to 0

(iii) After placing an anallatic lens, the value of the multiplying constant becomes 100
(A) Only (i) (B) (i) and (ii)

@ i) and i) (D) (i), (ii) and (iii)
The magnetic bearing of a line AB was N 49°30°W in the year 2000 when the magnetic declination
was 3020 E. If the present declination is 2°W, the Whole Circle Bearing of the line will be

@:i15050° (B) 311°50°

(C) 309°10° (D) 305°10°

Optimal flight planning for a photogrammetric survey should be carried out considering
(A) only side-lap (B) only end-lap

(C) either side-lap or end-lap .both side-lap as well as end-lap

A camera with a focal length of 25 cm fitted in an aircraft is used for taking vertical aerial
photographs. The average elevation of the terrain is 1000 m above the MSL. What height above
the MSL should the aircraft must fly to get the aerial photographs at a scale of 1:5000

(A) 250 m (B) 1000 m

(C) 2000 m @:250 m
Anallactic lens provided in a tacheometer is

(A) concave lens .convex lens

(C) plane lens (D) plano-convex lens

Subtense bar is an instrument used for
.measuring horizontal distances in undulated area
(B) measuring horizontal distances in plane area

(C) measuring horizontal angles in undulated area

(D) measuring horizontal angles in plane area
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160.

161.

162.

163.

164.

16S.

166.

167.

168.

169.

Ghat tracer is a/an
(A) area measuring instrument .gradient finding instrument
(C) angle measuring instrument (D) plan enlarging instrument

The pressure due to a column of 0.3 m of water will be

(A) 3 kgf/m? (B) 30 kgf/m?
.300 kgf/m? (D) 3000 kgf/m?
Stoke is the unit of

(A) surface tension (B) viscosity
.kinetic viscosity (D) dynamic viscosity

A free vortex

.has the velocity decreasing with the radius

(B) has the velocity increasing with the radius

(C) has constant velocity

(D) has the velocity decreasing inversely with the radius

Continuity equation

(A) expresses the relation between energy and work

(B) relates the momentum per unit volume for two points on a streamline
.relates mass rate of flow along a stream tube

(D) relates constant discharge through a long, straight tapering pipe

Stream lines, streak lines and path line are all identical in case of a/an

(A) uniform flow .steady flow

(C) laminar flow (D) ideal flow
Navier-Stokes equation is useful in the analysis of

.viscous flows (B) non-viscous flows
(C) rotational flows (D) turbulent flows

An Equipotential Line is an imaginary line in a field of flow such that
(i) the total head is the same for all points on the line.

(ii) the direction of flow is parallel to the line at all points.

@ony i) (B) Only (ii)

(C) Both (i) and (ii) (D) Neither (i) nor (ii)
The head loss in turbulent flow in pipe varies

(A) directly as the velocity

.varies approximately as the square of the velocity

(C) varies inversely as the square of the velocity

(D) varies inversely as the square of the diameter

Prandtl mixing length

(A) is a universal constant

.is zero at the pipe wall

(C) is independent of the shear stress

(D) is independent of the radial distance from the pipe axis
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170. Hydraulic jump is used for
(A) increasing the depth of flow .reducing the energy of flow
(C) decreasing the velocity of flow (D) reducing turbulence

171. Reynolds number may be defined as the ratio of

(A) viscous forces to inertial forces .inertial forces to viscous forces
(C) elastic forces to pressure forces (D) gravity forces to inertial forces
172. Wake

(A) is a region of high pressure

.always occurs after a separation point

(C) is the principal cause of skin friction

(D) always occurs when deformation drag predominates

173. Effect of compressibility of fluid can be neglected if Mach number is

(A) equal to 1 (B) greater than 1
(C) less than 1 but greater than 0.4 .less than 0.4
174. Francis turbine is
(A) an impulse turbine .an inward flow reaction turbine
(C) a tangential flow turbine (D) an axial flow turbine
175. If the Froude number is less than one, then

(A) the depth of flow will be less than the critical depth
.the depth of flow will be more than the critical depth
(C) the discharge would be maximum

(D) the specific energy would be minimum

176. For laminar flow in a pipe, the energy correction factor is
(A) 1.03 (B) 1.33
@:.00 (D) 2.50
177. Stokes law deals with
.settling of fine particles (B) settling of coarse particles
(C) laminar flow between parallel plates (D) laminar flow in the tubes
178. While using Darcy-Weisbach equation for estimating head loss in a pipe flow, the friction factor
was misjudged by +20%. For this case the correction for the discharge would be
(A) -40% (B) -10%
@-10% (D) +40%
179. Reciprocating pumps are suitable for
.low discharge and high head (B) high discharge and low head
(C) high discharge and high head (D) low discharge and low head
180. Mean precipitation over an area is best obtained using
(A) arithmetic mean method (B) Thiessen polygon method

(C) linearly interpolated isohyetal method .orographically weighted isohyetal method
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181.

182.

183.

184.

18S.

186.

187.

188.

189.

The complete width of the land acquired before finalising a highway alignment is known as

(A) Carriage way .Right of way

(C) Roadway (D) Width of formation

In India, the material used for the prime coat application for flexible pavement construction is
(A) Bitumen .Bitumen emulsion

(O) Tar (D) Industrial grade glue

While constructing the bituminous overlay on an already existing black top road or over existing
cement concrete road, the type of treatment given is

(A) Seal coat .Tack coat

(C) Prime coat (D) Fog seal

The typical lane width considered in a multi lane carriageway is
@350 m (B)3.75m

(C) 4.00 m (D) 5.00 m

The traffic signpost indicating ‘STOP’ on a National Highway is a:
.Regulatory sign. (B) Informatory sign.
(C) Warning sign. (D) Prohibitory sign

The desire line thickness in a typical Origin-Destination (O-D) plot represents
(i) Number of trips

(ii) Connectivity between two zones

(iii) Number of modes

@ony i) (B) (i) and (ii)

(C) (ii) and (iii) (D) (i), (ii) and (iii)

As per recent IRC 37-2018 guidelines, the analysis of flexible pavement is performed based on
subgrade soil strength in terms of

(A) California Bearing Ratio (B) Unconfined Compressive Strength
.Resilient Modulus (D) None of the above

The dowel bars in a rigid pavement are provided at the

.Expansion joints (B) Contraction joints

(C) Transverse joints (D) Longitudinal joints

The duration of green time of a traffic signal depends on

(i) traffic volume

(i) traffic density

(iii) traffic speed

@ony i) (B) (i) and (ii)

(C) (ii) and (iii) (D) (i), (ii) and (iii)
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190.

191.

192.

193.

194.

195.

196.

197.

198.

Traffic capacity

.represent the capacity of the roadway to accommodate traffic volume in terms of vehicles/
hr

(B) represent the number of vehicles occupying a unit length of roadway at a given instant
expressed as vehicles / km

(C) represent the number of vehicles occupying the full width of the road at a given instant
expressed as vehicles / road width

(D) represent the maximum number of vehicles that can pass a cross roads during the signal’s
green time

The mechanical ventilation method used in tunnels consists of

(i) Providing exhaust air by ducts

(ii) Blowing fresh air

(A) Only (i) (B) Only (ii)
.Both (i) and (ii) (D) Neither (i) nor (ii)

The section of the tunnel adopted perfectly in lieu of ease of construction and maintenance in
hard rock tunnels, where the risk of roof failure or collapse caused by external pressure from
water or from loose or unstable soil conditions on tunnel lining is practically non existent, is

(A) Circular section .Segmental roof section

(C) Horse shoe section (D) Egg shapped section

As per IRC, the class of loading considered the bridges of National Highways
(A) A (B)B

.AA (D) None of the above

The correct order of components of a typical bridge starting from the top level
(1) Abutment, (2) Girder, (3) Foundation, and (4) Flooring, is:

(A) 3-2-14 (B) 3-1-4-2

(C) 3-4-2-1 @4-2-13

The water pressure to be considered in the design of piers is / are

(i) Dynamic pressure

(i) Static pressure

(iii) Impact due to cross current

(A) Only (i) (B) (i) and (ii)

(C) (ii) and (iii) .(i), (ii) and (iii)

The type of Elastomeric bearing used in a highway bridge is

(A) Roller bearing .Neoprene rubber bearing
(C) Tar paper bearing (D) Rocker bearing

A parabolic vertical curve is to be set out connecting two uniform grades of +0.8% and +1.3%.
The rate of change of grade is to be 0.05% per 30 m. The length of the curve will be

(A) 100 m @:00 m

(C) 600 m (D) 900 m

In bituminous layer construction, for better compaction rolling should start from
(A) Center and proceed to edge (B) One side and proceed to other side
.Edge and proceed to center (D) None of the above
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199.

200.

201.

202.

203.

As per IRC guideline, if the processed waste plastic in the form of powder is added in hot
bitumen, then it is called as:

.wet process (B) dry process
(C) processing of bitumen (D) None of the above

As per IRC SP 98-2013 guideline, the quantity of waste plastic allowed in the mix by the weight
of the bitumen is

(A) 4-6 % @s- 3%
(C) 8-10% (D) 10-12%

In the given diagram, which Curve represents a well graded soil?

.Curve A (B) Curve B
(C) Curve C (D) Curve D

A clay sample originally 25 mm thick and at a void ratio of 1.5, was subjected to a compressive
load. After the clay sample was completely consolidated, its thickness was measured to be 24
mm. The final void ratio is of the sample would be

(A) 1.26 (B) 1.34
(0) 1.55 .1.40

The data presented below are related to three clay minerals - Kaolinite, illite and montmorillonite.
Place the proper name of the clay minerals in place of X, Y and Z beside the properties given in
table below:

Plasticity index = 30 % X
Plasticity index = 300 % Y
Plasticity index = 15 % Z

(A) X = Kaolinite, Y = Montmorillonite, Z = Illite
(B) X = Montmorillonite, Y = Kaolinite, Z = Illite
.X = Illite, Y = Montmorillonite, Z = Kaolinite
(D) X = Kaolinite, Y = Illite, Z = Montmorillonite
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204.

205.

206.

207.

208.

209.

In the figure below, soil X has a permeability of 4 x 10-3 cm/sec and the head lost in soil Y is 9
times the head lost in soil X. The cross sectional area of the specimens is 10 cm?. What is the
permeability for vertical flow?

El.incm

40

=" 30

| - _._"_"T__t' 20
Soil X

10
Soil ¥

= ’

Area :Il}::rn2

(A) 0.33 X 1073 c/sec. (B) 0.45 X 103 cm/sec
@+.40 X 10 cnv/sec (D) 4.40 X 10-3 cm/sec

Which geosynthetic material provides three dimensional confinement effect along with
reinforcement?

(A) Biaxial geogrid (B) Triaxial geogrid

.Geocell (D) Geosynthetic clay liner

Determine the shear strength in terms of effective stress for a saturated soil mass with following
details: Normal stress = 200 kN / m?, Pore water pressure = 80 kN / m2,

1
Effective cohesion = 16 kN / m2, Effective angle of internal friction = 300, Take ﬁ =0.57

(A) 94.4 KN/m? (B) 93.4 KN/m?
(C) 84.4 KN/m? @s3.4 kN/m?

An excavation was made in saturated soft clay (@u = 0), with its sides more or less vertical.

When the depth of excavation reached 6m, the sides caved in. What could be the approximate
value of cohesion of the clay soil? Take unit weight of clay = 20 kN/m?.

@30 in/m? (B) 40 kKN/m?
(C) 60 kKN/m? (D) 120 kN/m?

If a soil specimen has a water content of 20% and wet unit weight of 24 KN/m3, then its dry unit
weight will be

@20.0 KN/m3 (B) 25.0 kN/m?

(C) 28.8 KN/m? (D) 30.0 KN/m?

Which of the following statement(s) is/are true

(i) Liquidity index is also known as Water-Plasticity ratio

(ii) Sum of Liquidity index and Consistency index is always equal to 100%
(A) Only (i) (B) Only (ii)

.Both (i) and (ii) (D) Neither (i) nor (ii)
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210.

211.

212.

213.

214.

215.

216.

Flow index is

.the rate at which a soil mass loses its shear strength with an increase in the water content
(B) the rate at which the soil mass gains its shear strength with an increase in the water content
(C) the range of water content over which the soil remains in the plastic state

(D) the rate at which the soil weakens due to remoulding

The Terzaghi’s bearing capacity factors depend on

(A) angle of internal friction of soil and depth of foundation

.Angle of internal friction of soil only

(C) Coefficient of curvature of soil and bulk density of soil

(D) Uniformity coefficient of soil and dry density of soil

The average standard penetration resistance N was recorded as 6 at a site having a deposit of
dry sandy soil. The compactness of the soil deposit can be described as:

(A) Very loose .Loose
(C) Medium (D) Dense

occurs in steep slopes when the soil mass above the base of the slope and below the
base of the slope is homogeneous:

(A) Face failure (B) Base failure

.Toe failure (D) General shear failure

Which of the following statement(s) is/are true

(i) The lateral pressure on gravity walls is determined using Coulomb’s theory.
(ii) Gravity walls are more economical than cantilever walls.

(iii) Anchors should be placed as near the wall as possible.

@ony i) (B) (i) and (ii)

(C) (ii) and (iii) (D) (i), (ii) and (iii)

At a given site, the net ultimate bearing capacity of the soil is 25 t/m? and density is 1.8 t/m?.
Assuming that the Factor of safety is 2.5, the safe bearing capacity at 2 m below the ground
surface will be

(A) 14.6 t/m? @ 13.6 ym2
(C) 12.6 t/m? (D) 11.8 t/m?

A precast concrete pile is driven with a 50 kN hammer falling through a height of 1.0 m with an
efficiency of 0.5. The set value observed is 7 mm per blow and the combined temporary
compression of the pile, cushion and the ground is 6 mm. As per Modified Hiley formula, the

ultimate resistance of the pile will be
(A) 1250 kN @:2500 kN
(C) 3750 kN (D) 5000 kN
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217.

218.

219.

220.

221.

222.

223.

The safe bearing pressure for a raft on sand will be higher than that for an individual footing
because

(i) Density of sand increases with depth

(ii) The permissible total settlement is twice that of a footing
(iii) Differential settlement is less for a raft

(iv) Raft is thicker than individual footings

Which of these statements are correct?

(A) (i) and (ii) .(i) and (iii)
(C) (ii) and (iii) (D) (ii) and (iv)
If for a soil backfill,

K, = coefficient of active earth pressure

K, = coefficient of passive earth pressure

P
K, = coefficient of earth pressure at rest

then which of the following represents the correct relationship

K K +K
A) K, =—2% B K,.=—* P
4) Ky == (®) >
(Kp_Ka)
O K, = .None of the above

2

Arigid footing is resting on the surface of a cohesive soil. Select the statement which is represents
the soil pressure distribution below the footing:

(A) Maximum at the centre and minimum at edges
.Minimum at the centre and maximum at the edges
(C) Uniform throughout

(D) Maximum at one end and minimum at the other end
Loss of strength of a soil due to remoulding is

(i) due to change in the soil structure

(ii) due to disturbance caused to water molecules in the adsorbed layer

(A) Only (i) (B) Only (ii)

.Both (i) and (ii) (D) Neither (i) nor (ii)

Which of the following stones is recommended for carved and ornamental works in buildings?
(A) Gneisses (B) Granite

.Sandstone (D) Dolomite

Which of the following is primarily used to determine the fineness of cement?

(A) Vicat apparatus (B) Le-chatelier apparatus

(C) Autoclave test .None of the above

Which of the following processes of Brick manufacturing is carried out at pug mills to ensure
homogeneity in the mass of clay for subsequent processing?

(A) Weathering (B) Blending
.Tempering (D) Drying

BDF - MASTER | 27 [ P.T.O.


Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight


224.

225.

226.

227.

228.

229.

230.

231.

Which of the following statement(s) is/are false?

(i) Acid Refractory Bricks can be used for lining of furnaces which have to be cooled and reheated
frequently

(ii) Basic Refractory Bricks have poor resistance to spalling
@ony i) (B) Only (ii)

(C) Both (i) and (ii) (D) Neither (i) nor (ii)
Which of the following statement(s) is/are correct?

(i) An excess of asphaltene makes bitumen brittle and non-plastic.

(ii) Tar contains very high bitumen content.

@ony i) (B) Only (ii)

(C) Both (i) and (ii) (D) Neither (i) nor (ii)

Which of the following is primarily responsible for the corrosion resistance of stainless steel?
(A) Carbon (B) Sulphur

. Chromium (D) Vanadium

Which of the following statements is correct with respect to strengths of Concrete and Steel?

(A) Concrete is weak in tension and strong in compression, while Steel is weak in compression
and strong in tension.

(B) Concrete is weak in compression and strong in tension, while Steel is weak in tension and
strong in compression.

.Concrete is weak in tension and strong in compression, while Steel is strong in both tension
and compression.

(D) Concrete and Steel both are weak in tension and strong in compression

Which of the following component of the Oil Paint bring down its overall cost, reduce the
weight and increase the durability?

(A) Vehicles (B) Solvents

(C) Driers @ Aduitrants
Corundum is used as

(A) a binding material (B) an adhesive material
(C) a reinforcing material .an abrasive material

Unit of Young’s Modulus is same as that of

(A) Bulk Modulus, Section Modulus, Stress and Pressure

(B) Shear Modulus, Bulk Modulus, Section Modulus and Subgrade Modulus
(C) Shear Modulus, Poisson’s Ratio, Stress and Bulk Modulus

.Bulk Modulus, Subgrade Modulus, Stress and Pressure

A body is in equilibrium under the effect of three coplanar concurrent forces P, Q and R. If the
magnitude of Q is equal to 2P, then the angle between Q and R

.must be greater than angle between P and R
(B) must be equal to angle between P and R
(C) must be less than angle between P and R

(D) can be greater or lesser than angle between P and R depending upon the value of P
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232.

233.

234.

235.

236.

237.

238.

239.

240.

241.

1 kgf/mm? =
(A) 9.81 Pa (B) 0.981 N/mm?
@o-31x103 kPa (D) 9.81 kN/m?

For equilibrium of the ladder of weight W, how much minimum horizontal force is required to
be applied at the bottom end of the ladder resting against a smooth vertical wall on a smooth
floor making an angle of O with the vertical?

(A) W(tan0) @ o.5w(tan 0)

(C) W(cot0) (D) 0.5W(cot0)

If the length of the wire having Poisson’s Ratio 0.4 is increased by 0.02%, its diameter will
(A) increase by 0.05% (B) decrease by 0.05%

(C) increase by 0.008% .decrease by 0.008%

The least possible Moment of Inertia for a rectangular section 20mm x 90 mm about any axis is
A)0 (B) 2 cm*

@s o’ (D) 12 cm*

Of the following four bars of same material and same length, which one will have minimum
elongation?

(A) Diameter 0.25 cm, Subjected to Tensile load of 250 N
(B) Diameter 0.5 cm, Subjected to Tensile load of 500 N

(C) Diameter 1.0 cm, Subjected to Tensile load of 1000 N
.Diameter 2.0 cm, Subjected to Tensile load of 2000 N

Which of the following statements is correct for a composite bar made up of a solid bar and a
tube of different materials rigidly fixed together at the ends and subjected to temperature stress?

(A) Stress and strain in both the bars are different

(B) Stress in both the bars is same, but strain is different

.Stress in both the bars is different, but strain is same

(D) Stress and strain in both the bars are same

For an isotropic material having Poisson’s Ratio of 0.5, volumetric strain is equal to
@ (B) 0.5

o1 D)2

The difference between the strain energy required to generate a given stress in a material and
the material’s elastic energy at that stress, is known as

(A) Relaxation (B) Isoelastic strain
(C) Resilience .Elastic hysteresis

Number of components in a stress tensor defining stress at a point in a stressed body in three
dimension are

A3 (B) 6

@ (D) 12

Normal Stresses on two perpendicular planes are +120 MPa and +60 MPa respectively. The
element is also subjected to shear stress of 40 MPa. Maximum Shear Stress at a point is

(A) 90 MPa (B) 60 MPa
@so vipa (D) 0
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242.

243.

244.

245.

246.

247.

248.

A shaft is subjected to pure torsion. Surface of the shaft represents
(A) plane stress condition only

(B) plane strain condition only

.both plane stress as well as plane strain conditions

(D) neither plane stress nor plane strain condition

Which of the following failure theories assumes that failure by yielding occurs when energy
used in changing the shape of the unit volume of a component is equal to the distortion energy
per unit volume at the yield stress of a specimen subjected to simple tension or compression
test?

.Von Mises theory (B) Tresca theory
(C) St. Venant’s theory (D) Beltrami’s theory

If a Cantilever beam having Hollow Circular cross-section is subjected to a Bending Moment
and the same amount of Torsional Moment, the ratio of maximum bending stress to maximum
shear stress produced in the beam is

(A) 0.5 (B) 1.0

(©C) 1.5 @:.0

A cantilever beam AB fixed at left side support A is subjected to a clockwise moment at midpoint
of the beam. The cross-section of the beam is T-section having flange at top. Maximum bending
stress will occur at

(A) Top-most layer of the section (B) CG of the section

(C) Mid-height of the section .Bottom—most layer of the section
Shear Centre of an Equal Angle Section is located at

(A) the centroid of the section

.the intersection of centre lines of both the legs

(C) a distance equal to radius of gyration from the intersection of centre lines of both the legs,
towards centroid of the section

(D) a distance equal to radius of gyration from the intersection of centre lines of both the legs,
in the direction opposite to that towards centroid of the section

Which of the following statement(s) is / are correct with reference to shafts subjected to torsion?

(i) If two shafts have the same Polar Moment of Inertia, maximum shear stress values induced
in both the shafts must be same.

(i) If two shafts have same Torsion carrying capacity, their Polar Moment of Inertia must be

same.
(A) Only (i) (B) Only (ii)
(C) Both (i) and (ii) .Neither (i) nor (ii)

Bar A is a solid circular bar of diameter 100 mm and Bar B is a tapered bar with diameter 50
mm at one end and 150 mm at the other end. Both the bars have same length and material, and
they are subjected to same amount of tensile load. Which of the following is correct for their
elongation?

(A) Elongation of bar A > Elongation of bar B
(B) Elongation of bar A = Elongation of bar B
.Elongation of bar A < Elongation of bar B
(D) can’t be decided
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249.

250.

251.

252.

253.

254.

255.

256.

A simply supported beam of span 12 m is subjected to point loads 50 kN, 20 kN and 30 kN
respectively at 3 m, 5 m and 9 m from left support. Maximum Bending Moment will be induced
at

(A) the point where 50 kN load is acting .the point where 20 kN load is acting
(C) the point where 30 kN load is acting (D) the midpoint of the beam

An overhanging beam ABCD has overhangs AB and CD on both the sides. Respective lengths
are AB=2.5 m, BC=5 m and CD=2.5 m. The beam is subjected to UDL of 20 kKN/m on entire
length from A to D. Shear Force and Bending Moment at the midpoint of the beam are
respectively

(A) 100 kN, 250 kN-m (B) 100 kN, 0 kN-m
(C) 0 kN, 250 kN-m @o N, 0 kN-m

Beam ABCD is having roller support at A, internal hinge at B, roller support at C and hinge
support at D. Respective lengths are AB=1 m, BC=1 m and CD=3 m. 60 kN downward load is
acting at point B. What is the reaction at point C?

(A) 20 kN in upward direction (B) 20 kN in downward direction
(C) 30 kKN @so

Beam A-B-C is having fixed supports at A and C. At point B, an internal hinge is provided and
a downward point load of P is applied. Length AB = BC = L/2. The vertical deflection at point
Bis

(A) PLY/3EI (B) PL3/24EI
@r1L3/43E1 (D) 0

How many points of contraflexure are present in the portal frame supported by fixed support
at both the ends and subjected to only horizontal UDL on entire length of one vertical face?

A1 (B) 2

@: (D) 5

A simply supported beam of span L is subjected to two point loads: load W at L/3 distance from
left support and load W at L/3 distance from right support. Slope at the support is

(A) (WL2)/(6EI) .(WLZ)/(9EI)

(C) (WL?)/(12EI) (D) (WL?)/(18EI)

Which of the following assumptions of Truss analysis is incorrect?

(A) Internal forces are directed along the longitudinal axis of truss members.

(B) No moments can be transferred between the end of a bar and the joint to which it connects.
.Weight of the bar is acting at its midpoint.

(D) Members are joined together by frictionless pins.

Which of the following methods used for determining deflection in beams is a Strain Energy
method?

(A) Moment Area Method (B) Conjugate Beam Method
(C) Method of Elastic Weights .Unit Load Method
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257.

258.

259.

260.

261.

262.

263.

A propped cantilever beam AB is having a fixed support at A and a roller support at B. The Area
of Influence Line Diagram of Vertical Reaction at A the area of Influence Line Diagram
of Vertical Reaction at B.

(A) is less than

(B) is equal to

.is more than

(D) can be more, equal or less (depending upon the location of unit load) than

If a column having circular cross-section is subjected to compressive load at an eccentricity
equal to radius of gyration of the section,

(A) entire cross-section will be under compressive stress everywhere

(B) entire cross-section will be under compressive stress and zero stress on the face opposite to
the eccentricity

.some part of the section will be under compressive stress and the other part will be under
tensile stress

(D) entire cross-section will be under tensile stress everywhere

Which of the following types of structures can be analysed by Kani’s Method?
(i) Gable Frame

(ii) Plane Truss

(iii) Braced Frame

@ony i) (B) (i) and (ii)

(C) (ii) and (iii) (D) (i), (ii) and (iii)

Kinematic Indeterminacy of an encastre beam is

@ (B) 1

02 D)3

In Finite Element Method, which of the following types of elements is not used for modelling
thin plate loaded by forces in their own planes?

.axisymmetric elements (B) triangular elements
(C) quadrilateral elements (D) two-dimensional elements
Which of the following statement(s) is / are correct for Arches?

i) The positive moments near the centre of the span for fixed arches are much higher than the
p Y
positive moments at the corresponding locations in a two-hinged arch.

(ii) The deflection of the fixed arch is somewhat less than those of the two-hinged arch at the
corresponding locations.

(A) Only (i) @ onyy i)
(C) Both (i) and (ii) (D) Neither (i) nor (ii)

Plastic Section Modulus of solid circular cross section is S. If diameter of the circle is doubled,
then Plastic Section Modulus of the section will be

(A)2S B)4S
@s s D) 16 S
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264.

265.

266.

267.

268.

269.

270.

As per the IS code designations, which of the following structural steel sections are designated
using dimensions of width and thickness only?

(i) Strips (ii) Flats (iii) Sheets
(A) Only (i) @ i) 2nd Gi)
(C) (ii) and (iii) (D) (i), (ii) and (iii)

As per IS:800-2007, the ability of the fire protection system to remain in place as the member
deflects under load during a fire test, is termed as

@ stickability (B) Fragility
(C) Severability (D) Resistibility

In normal loading condition, what is the effective length for simply supported beam of length L
which is torsionally fully restrained and warping is not restrained in both the flanges?

(A)0.70 L (B)0.75L
(C) 0.85 L @.00L
Which of the following statement(s) is / are correct?

(i) The effects of shear lag need to be considered only when all the elements are not connected
directly.

(ii) The block shear phenomenon becomes a possible mode of failure when the material bearing
strength and bolt shear strength are lower.

@ony i) (B) Only (ii)

(C) Both (i) and (ii) (D) Neither (i) nor (ii)

Engineering stress and engineering strain of tension members are calculated using
.initial area of cross-section and initial gauge length

(B) initial area of cross-section and instantaneous gauge length

(C) instantaneous area of cross-section and initial gauge length

(D) instantaneous area of cross-section and instantaneous gauge length

As per 1S:800-2007, fixed column bases and their anchor bolts should be designed to withstand

a moment of times the full plastic moment capacity of the column section.

@20 (B) 1.25

(0)1.33 D) 1.5

Match the types of tension rods with their use:

Type of Tension Rods Use

(a) Sag rods 1. to resist thrust of an arch

(b) Vertical ties 2. to support girts in the walls of industrial
buildings

(c) Tie rods 3. to support purlins in industrial buildings

(d) Hangers 4. to support balconies

(A) (a-3), (b-4), (c-1), (d-2) (B) (a-1), (b-4), (c-3), (d-2)

@ -3). v-2), (1), (@-4) (D) (a-1), (b-2), (c-3), (d-4)
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271.

272.

273.

274.

275.

276.

2717.

278.

279.

280.

For resisting torsion, the most ideal steel section from the following is

(A) I-section (B) H-section

(C) Triangular .Hollow Circular

Which of the following statement(s) is/are correct with respect to Plastic Design?

(i) One of the major assumptions in plastic theory and design is that the beam is supported
continuously laterally to prevent the failure of the compression flange by lateral buckling.

(ii) IS:800-2007 suggests that torsional restraints against lateral buckling should be provided at
all plastic hinge locations.

(A) Only (i) (B) Only (ii)

.Both (i) and (ii) (D) Neither (i) nor (ii)

The hole diameter in base plates shall not exceed the anchor bolt diameter by more than
(A) 1.5 mm (B) 2.5 mm

(C) 5 mm @6 nm

When fasteners are staggered at equal intervals and the gauge does not exceed 75 mm, spacing
between centres of fasteners may be increased by

@so (B) 30%
(C) 20% (D) 10%

The element which is used to transfer large horizontal force from column base to the foundation
is known as

(A) Shear lag .Shear lug

(C) Shear leg (D) Shear lip

The maximum diameter of reinforcing bar which can be used for 120 mm thick RCC slab is
(A) 10 mm @12 nnm

(C) 16 mm (D) 20 mm

According to IS:456-2000, a compression member is termed as a column or strut when the ratio
of its effective length to the least lateral dimension exceeds

(A) 12 (B) 9

©6 @:

Direct Design Method can be used to design a rectangular RCC flat slab, only if the ratio of the
longer span to the shorter span within a panel

.is not greater than 2 (B) is equal to 2

(C) is not less than 2 (D) is not less than 1.5

Thickness at the edge of reinforced concrete footings on piles shall not be less than
(A) 150 mm @300 mm

(C) 450 mm (D) 600 mm

As per the condition of redistribution of moments in continuous beams and frames, the ultimate
moment of resistance provided at any section of a member is not less than % of the
moment at that section obtained from an elastic maximum moment diagram covering all
appropriate combinations of loads.

@0 (B) 80

(©) 9% (D) 95
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281.

282.

283.

284.

285.

286.

287.

288.

289.

290.

Permissible differential settlement for reinforced concrete structures supported by raft
foundation on hard clay, is

(A) 50 mm (B) 60 mm

@5 nm (D) 100 mm

Which of the following is a handbook on concrete reinforcement and detailing?
(A)SP 16 (B) SP 24

@sr 34 (D) SP 64

Maximum Bending Moment in a Stem of a Cantilever Retaining wall occurs at
(A) top of the stem (B) 2/3 height from base of the stem
(C) 1/3 height from base of the stem .base of the stem

In unreinforced masonry construction, length of bearing of lintel (having span of 75 cm) at
each end shall not be less than

(A) 50 mm (B) 75 mm

@90 mm (D) 100 mm

As per 1S:13920-2016, lap splices in columns shall not be used for bars of diameter larger than
(A) 16 mm (B) 20 mm

(C) 25 mm .32 mm

In the context of Earthquake Resistant Design of structures, the distance between the centre of
mass and the centre of resistance of floor is termed as

(A) Design eccentricity .Static eccentricity
(C) Seismic eccentricity (D) Principal eccentricity

A simply supported prestressed concrete beam is to be designed for carrying Uniformly
Distributed Load. Which of the following should be the preferable tendon profile?

(A) a straight profile below neutral axis

(B) a straight profile above neutral axis

.a parabolic profile with convexity downward
(D) a parabolic profile with convexity upward

In prestressed concrete, what is the maximum amount of free water-cement ratio for mild
exposure condition?

@55 (B) 0.50
(©) 045 (D) 0.40

For unreinforced masonry cavity walls with both leaves of uniform thickness throughout,
effective thickness shall be taken as

(A) the sum of the actual thickness of these two leaves

(B) half of the sum of the actual thickness of these two leaves
.2/3rd of the sum of the actual thickness of these two leaves
(D) 3/4™ of the sum of the actual thickness of these two leaves

Which of the following can occur by improving wall-to-wall and wall-to-roof connections in a
masonry structure?

(A) Increased compressive strength of a masonry wall
(B) Increased in-plane strength of a masonry wall
(C) Increased out-of-plane strength of a masonry wall

.Creates a box-type behavior for the entire masonry structure
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291.

292.

293.

294.

295.

296.

297.

298.

299.

300.

The part of the wall at the side of an opening is known as

.Jamb (B) Joggle

(C) Hearting (D) Quoin

What is the unit for measurement of Honey comb brick work?

(A) metre .square metre

(C) cubic metre (D) number of bricks

As per IS Code of practice for brickworks, a bed joint shall not be thicker than
(A) 10 mm @12 nnm

(C) 15 mm (D) 16 mm

With reference to the water supply requirements in multi-storeyed buildings, overhead storage
tank should be constructed at least above the terrace level.

@600 mm (B) 1000 mm

(C) 1500 mm (D) 3000 mm

The external angle formed by the intersection of two inclined surfaces is known as
@uip (B) Valley

(C) Gable (D) Verge

The number of risers in any one flight in an interior wood stair shall not be more than
(A) 10 @
©) 16 (D) 20

Which of the following traps is provided to prevent the foul gases from public sewers entering
into the building sewer, by means of water seal?

(A) Q trap (B) Straight-through trap
.Intercepting trap (D) Floor trap

Floor Area Ratio is equal to

(A) Total covered area of the floors / Built up Area

(B) Total covered area of the floors / Plinth Area

(C) Total covered area of the floors / Carpet Area

.Total covered area of the floors / Plot Area

The process of strengthening the foundation of an existing building is known as
. underpinning (B) caulking

(C) skirting (D) shoring

The transverse members of the scaffolding, placed at the right angle to the walls with one end
supported on the ledger and another end on the wall, are known as

(A) Standard .Putlogs
(C) VoIt (D) Braces
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